2) Jin= 3 /Jlo,\h,m M £z 3 ol T,,,j/a, sufs,'?
(x-%

foye 3 o 2 kv
Lx-¥F

[ SRR
,jlm\ )= 3. 4Ly -1). LQK—?)PS
[URTEENE AR WA ST I

: N -(/\-e\)
£ x)= 3. 40" Al (w-P) A=D e L nl.

IS I S Sl ()

o (n o0 A,
R )(3) ahd L= [0 CP 2 3"
Nn=0Q /\! =0 5"*1)3»

+00
=D 1 LN e
N<o 5 ( b>

X0z 1 T’\‘dl"r s V=&

3) Y= s \/\( X ek ) Jlmhs\'\doauam \/Molclmwfr\ sefis1 ?

3x 1
— 3
3“"4-\/\({/3—%‘ > = \{/E;d) !
PR e e )
4
ISR ((33%\_) {3) .;-?(; n (2 x+ 4;>
£00= -2 1a(Zxe L)



+3
1 Y S Y Y B D YT D P
3l & ¥ ¥ L
»P-(u\bd- L 23 (Y8 ) B DL (2 et T
SR K4 1
(n)
N L )(,) ) (n—1)\( HL) iy 3 b
200 () (o) 0 — pA)
2l Sl K1) (x—o":_’ﬁ_,ﬁ'l_()(-t)JrZ A Ly
N=o NI ol n=¢ N
=3 i1 Sl n n-1 -N
P L Zdrerel (7L
,1 <1 ﬂ’f’
= la ‘l').x’> 451 4 s
( 2: E( u) (x~1)"
Nn=|
n
202 () o i L B Y7 n
100y ) ,f(o))rz_na LR
N=o Al /""|— Nl
~+90 21
BNV ES B Y ERY K4
= aln(?hmz;( 3_(3) (-4 Mg i
0o 'a/-(/)
B II\(H%’)—\—E_Z (-3)" N




é() ,ﬂtx\—:\EJ(—tS i A= i-uﬂlor7 M(‘»c(aufl‘f\?
9
—P(X\:(S_X-Gg) 2
1

e e (sxma

13
LV AT ATH B RN
s 2
S ' -z
X)—= i S (-4 % ¥ -3 1
5.2.5.(45): 5 (-3) (a9
Y PR R Fd B (N2 (R L "}‘Z
J 1 lxy= I8 S ('i) G2 ;) 5. (-2) (5x43)
) SHP ¢ o
70‘“ DV (S| I 425 [ (2ad8) [Skad} [T
g'/\
‘\1/ 9—‘%5\ /I:Z]},l'l,--"
(4
S A e’ LG R (1) (x42) +
N=o A
_(za—ﬂ
% 120-0 "0 (LY 135 daa-3) 13 F
n=17 e (_X 'L\
N
EER 3 ’/9,(3 :
R RTG
S0 = ftarg o (o)x,r
Nn=-o /”, Ca-1)
E2 T 7L ot 13.5 ; &
_\——2_ ZAL’) s .?.b_--.(ln-'}\ Xf)
n="1 BE

N



A\\S\'\(‘MO\,\OJ.‘
4\ «@(ﬂ\: ;— ( Xo= 9, ij\"(-?
e
2) _j'_(x\: \J c:!x-‘l XS Yy I ? Moua(c'ull'l\?
3) -ﬁ()‘\? 8 \/\L(‘(i—(l\ ) Xo= 5 Tc,j’o(")

Lf) ,.F(X\: \}3—2.)( X, = | T&ylo(-.')

[

Lix+! o
5) 70 bd:(]:})_ﬂix-ﬂ) ) Xe= 2. (ow’Io(‘.()
é) foa= 5 y Xo=1 T&LIIOP?

(2x2)



